Mama Frimary S-a-day Flatinum -~ ,1..:‘-

11th May ¥

2331 = 37 37.5% = —

How many dots are there in Pattern 157 " . .
Pattern 1 Pattern 2 Pattern 3

Find the fraction halfeay beteeen

2 :

—and —

3 5]
This is the plan of a garden.
On tha plan, sach 1 centimatra = 3 metras
Find the area of the actual garden. ' 12cm

8em
10cm
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A theatre has 52 rows of saats.
Each row has 19 seats.

Tickets cost £13 each.
All tickets are sold for a show.

Estimate how much monay is reised.

Find x

Burt iz making cupcakes
He has made 20,000 cupcakes.

How many boxes can he fill?

Burt places the cupcakes in boxes of 16.
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400g of cheese costs £2.10

‘Work out the cost of half a tonne of
chessa,

Sinead has 4 cards.
There is & number on each card.

The mean of the 4 numbers on Sinead's
cards is 12.

‘Work out the mumbear on the 4th card.

In & bag there are red, green and purpde
counters.

3
E_ of the counters are red.

i
. of the counters are graen.

What fraction of the cownters are purple?
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Hannah is paid £280.

She spends 309 on her rent,
45% on food and bilks,

and she saves the rest.

Howr mausch money does Hannah save?

Miss Taylor keeps chickans in this field.
Each chicken needs 3m?

‘What is the maximum number of chickens
she can keep in the fisld?

24m
10m

1Bm

Mr and Mrs Gould have 5 children.
The mean age of the chikdren is 11 years.

Ben is T years old.
Chioe is § years old.
Max is 10 years old.
Rosa is 12 years old.

Howr old is the fifth child, Rebacca?

& Corbettrmathes 2017

WEW.corbefSmaths.com



Primary 5-a-day

. 'ﬁa-l-ll
Platinum .

Y

29 x 3=
* 23

Find the value of w in this equation

ow — 3 = 33

Hers iz a trapazium with a height of Tom.

The parallel sides ara B.5cm and 12.5cm
long.

Find the area of the trapsezium

B.Ocm

fcm

12 Bem

George makes & saguence of numbears.
He chooses a starting number and then
adds equal amounts each time.

The fourth number in his segquence is -7
The seventh numbar in his saquenca is 32

‘What is the second number in the
sagquence?
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